Exponential and Logarithmic Functions Lesson #7: Combining the Laws of Logarithms 2

Assignment

1. Write each expression as a single logarithm:

a) logx - 3logy Zlogz b) —logap+3logaq 4log,p
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2. Simplify the following without using a calculator.
a) log2+2 log 3-log18

b) 2log2 - 21log4 - log4i
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3. Use the laws of logarithms to simplify and evaluate the following expressions.
a) log,\/6 - l log23 b) ; log;010 + 3 log;,\/10
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4. Simplify the following:
1 1
a) logx*- 3logx+logl b) logx7+logy7—-;-logxy

l o4y ¥ o 2o oa\ —
1092l rlonl gk kg Sy M“‘%)

o
- oo =71995* 599" 3 Sy
' - 0

- -
—
m———
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gl 920" or (3x-)log, 0

5. Show that logay +loga,y5 -2 - log,y* -3 -2 log, y canbewnttenaslog( 12)
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Determine the value of the following.

/3 logs27) (/3 logs16
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AN 7-  The expression 3 log, 4 + log, 8 - 7} log, 16, where x>0, is equal to
A. log384 '
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c. 9 = %b
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010. If log; x> =2 and 2log, \V/x = %, then the value of k is

(Record your answer in the numerical response box fmm left to right.) 9\ ']
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X = *’3 logy > = N - a7,
11 Iflog3x -4, logzy =6, and logbx+logby-5 where x, y >0,
then the value of bis _____

4 (Record your answer in the numenc;ll msponsc box from left to right.) t ed q Q)
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Answer Key ‘ laOHO = 1,)

3 |
1. a) log{ ;‘2) b) logV{ 1} 2.0 0 b) O 3.8 + b2
¥t 4 2
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4.2) 0 b) 0 ¢) x+8 d) logga™ ! or 3x-logzra

10. 2 7 11. 1 2 9 6




